

Name: Onalaj Hameedah Modupeoluwa
Department: MBBS
Matric no: 19/mh/501/346

$$1. \int \frac{11-3x}{x^2+2x-3} dx = \int \frac{11-3x}{x^2+2x-3} dx$$

The denominator = x^2+2x-3 .

$$(x^2+3x) - (x-3) = 0$$

$$x(x+3) - (x-3) = 0$$

$$= (x-1)(x+3) = 0$$

$$= \int \frac{11-3x}{(x-1)(x+3)} dx$$

$$\therefore \frac{11-3x}{(x+3)(x-1)} = \frac{A}{x+3} + \frac{B}{x-1}$$

$$\frac{11-3x}{(x+3)(x-1)} = \frac{A(x-1) + B(x+3)}{(x+3)(x-1)}$$

Equate the numerator

$$\therefore 11-3x = Ax - A + Bx + 3B$$

Substitute $x=1$

$$11-3(1) = A(1) - A + B(1) + 3B$$

$$11-3 = A - A + B + 3B$$

$$\frac{8}{4} = \frac{4B}{4} \quad \therefore B = 2$$

Substitute $x=-3$

$$11-3x = Ax - A + Bx + 3B$$

$$11-3(-3) = A(-3) - A + B(-3) + 3B$$

19/mthsdi/3+6

$$11+9 = -3A - A - 3B + 3B$$
$$\frac{20}{-4} = \frac{-4A}{4} \quad \therefore A = -5$$

$$\frac{11-3x}{(x+3)(x-1)} = \frac{-5}{(x+3)} + \frac{2}{(x-1)}$$

$$\therefore \int \frac{11-3x}{(x+3)(x-1)} dx = \int \left(\frac{-5}{(x+3)} + \frac{2}{(x-1)} \right) dx$$

$$= \int \frac{-5}{x+3} dx + \int \frac{2}{(x-1)} dx$$

$$= -5 \int \frac{1}{(x+3)} dx + 2 \int \frac{1}{(x-1)} dx$$

$$= -5 \ln(x+3) + 2 \ln(x-1)$$

$$2) \int \frac{4x-16}{x^2-2x-3}$$

The denominator = $x^2 - 2x - 3$.

$$(x^3 - 3x) + (x-3) = 0$$

$$x(x-3) + (x-3) = 0$$

$$(x-3)(x+1) = 0$$

$$= \int \frac{4x-16}{(x-3)(x+1)} dx$$

$$\therefore \frac{4x-16}{(x-3)(x+1)} = \frac{A}{(x-3)} + \frac{B}{(x+1)}$$

19/mth/SD1/846

$$\frac{4x-16}{(x-3)(x+1)} = \frac{A(x+1) + B(x-3)}{(x-3)(x+1)}$$

Equate the numerator.

$$4x-16 = Ax + A + Bx - 3B$$

Substitute $x=3$.

$$4(3)-16 = A(3)+A+B(3)-3B$$

$$12-16 = 3A+A+0$$

$$\frac{-4}{4} = \frac{4A}{4}$$

$$\therefore A = -1.$$

Substitute $x=-1$.

$$4x-16 = A(x+1) + B(x-3)$$

$$4(-1)-16 = A(-1+1) + B(-1-3)$$

$$-20 = 0 - 4B$$

$$\frac{-20}{-4} = \frac{-4B}{-4} \quad \therefore B = 5$$

$$\frac{4x-16}{(x-3)(x+1)} = \frac{-1}{x-3} + \frac{5}{x+1}$$

$$\therefore \int \frac{4x-16}{(x-3)(x+1)} dx = \int \left(\frac{-1}{x-3} + \frac{5}{x+1} \right) dx$$

$$= \int -\frac{1}{x-3} dx + \int \frac{5}{x+1} dx$$

$$= -1 \int \frac{1}{x-3} dx + 5 \int \frac{1}{x+1} dx$$

$$= -1 \ln|x-3| + 5 \ln|x+1|$$

19/11/2013/346

$$3) \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)}$$

Resolving into partial fraction.

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A}{x+1} + \frac{B}{x-2} + \frac{C}{x+3}$$

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)}{(x+1)(x-2)(x+3)}$$

Equate the numerators.

$$2x^2 - 9x - 35 = A(x-2)(x+3) + B(x+1)(x+3) + C(x+1)(x-2)$$

Substitute $x=2$.

$$2(2)^2 - 9(2) - 35 = B(2+1)(2+3)$$

$$\frac{-45}{+15} = \frac{+15B}{+15}$$

$$B = -3$$

Substitute $x=-1$

$$2(-1)^2 - 7(-1) - 35 = A(-1-2)(-1+3)$$

$$\frac{-24}{6} = \frac{6A}{6}$$

$$A = -4$$

Substitute $x=-3$

$$2(-3)^2 - 9(-3) - 35 = C(-3+1)(-3-2)$$

$$\frac{10}{10} = \frac{10C}{10}$$

$$\therefore C = 1$$

19/mthsu/3x6

$$\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = \frac{4}{x+1} - \frac{3}{x-2} + \frac{1}{x+3}$$

$$\int \left(\frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} \right) dx = \int \left(\frac{4}{x+1} - \frac{3}{x-2} + \frac{1}{x+3} \right) dx$$

$$= \int \frac{4}{x+1} dx - \int \frac{3}{x-2} dx + \int \frac{1}{x+3} dx$$

$$4 \int \frac{1}{x+1} dx - 3 \int \frac{1}{x-2} dx + \int \frac{1}{x+3} dx$$

$$= 4 \ln|x+1| - 3 \ln|x-2| + \ln|x+3|$$

$$\therefore \int \frac{2x^2 - 9x - 35}{(x+1)(x-2)(x+3)} = 4 \ln|x+1| - 3 \ln|x-2| + \ln|x+3|$$